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2. Determine the sum of all the digits in the final product of

9x99x%x9999%x99..-.9%x99...9.
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. Select four vertices on a regular octagon( ~ i#35) as shown
at the right. Connect them to form a trapezoid(4-25)(shaded
region). What is the proportion of the shaded region in the
regular octagon?
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11.Construct two 5-digit numbers from the ten digits 0 to 9 such that each
digit will use only once and one 5-digit number is nine times the other
5-digit number. What is the maximum sum of these two 5-digit

numbers?
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